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1.Isopreneis

a)1-methyl - butadiene
B)2-methyl- butadiene
C)1- ethyl-butadiene
D)2-ethyl-butadiene.

2.Linalool does not contain : oI

A) tertiary alcoholic group e

b) unsaturation

C) Aldehyde group ~
D)None of the above.



3.0n oxidation linalool forms acid.

a) Linaloolic acid

B)Acetic acid

C)Laevulic acid

D)Geranic acid.

4.linalool is synthesised from

a)Methyl heptanone

b)Ethyl heptanone

c)Methyl heptenone

d)Ethyl heptenone.




5.Citral does not contain

a)Unsaturation

B) Aldehyde group
C)Alcoholic group
D)AIl of the above. T

6.Citralon __ gives levulinic aldehyde. :
a)Oxidation
B)Reduction
c)Ozonolysis
D)with Br2.



7.Citral-a on reduction gives
a)Geranic acid
B)Geraniol
C)Laevalinic aldehyde
D)Laevalinic acid.

8.Molecular formula of farnesol is
a)C10H180
B)C10H160
C)C16H260
D)C15H200.




9.Farnesol contains

a) two rings

B) three rings
C)four rings REN
D)No rings.
10.Acyclic Monoterpenoids contain _ number of double bonds.

a)l O
B)2



C)3

11.Monocyclic Monoterpenoids contain number of double bonds. Con g w
a)l 1
b)2

C)3
D)4. |

12.Molecular formula of sesterpenoids is

’N_,



A) C20H32
B)C25H40
C)C38H48
D)C40H64.
13.Geraniol does not contain

a)Primary alcoholic group
B)Unsatiration
C)Aldehyde group

d) None of the above.
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14. Alpha pinene is

a) Monocyclic
B)bicyclic

C)Acyclic

D)None of the above.

15.Cis-norphinic acid is

2)C8H1204
B)C8H1004 . b

c)C10H1204
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D)C10H1004.

16.Gem dimethyl group of alpha pinene is present in

a)Six membered ring

B)four membered ring

C)outside the ring |
D) None of the above. i\ @ |

17.Cis- norphinic acid is
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A)1,1-dimethyl-cyclobutane-2,4-dicarboxylic acid

B)2,2- dimethyl- cyclobutane-2,4-dicarboxylic acid
C)2,2-dimethyl-cyclobutane-1,4-dicarboxylic acid
d)1,1-dimethyl-cyclobutane-1,4-dicarboxylic acid. T
18.How many isoprene units are present in camphor?
a)l

B)2 f)
0)3

d)4



19.C10H100 is the molecular formula of

a)Camphor
B)Farnesol
C) alpha-pinene

D) Linalool.

20. Oxygen atom in camphor is present in

a)ketone
B)cyclic ketone
c)Primary alcohol

D)Secondary alcohol.




